on of rens.

Name ' ) Date.

m Practice B @@’\9\)60 -
In Exercises 1 and 2, find (f + g)(x) and (f - g)(x) and state ¥he domain \/’; ¥ CI\/——)’Q '

of each. Then evaluate f + g and f — g for the given value of x.
— >
@f x) = -93/4x;x = -2 - %\r/

2. f(x) =3x - 5% —x;g(x):sx Cdmx =1 _<g )
)@ i(vj\( 3 In Exercises 3-5, find (fg)(x) and (gj(x) and state the domain of each. ~ \{__/'

Then evaluate fg and L for the given value of x.

2o e 3 e e o | ”@(?D’
.fx = 3x%; g(x) = 5x1/4;x =16 FD (*bOt

\6 ¢ ,7( @f = 10xY5; g(x) = 2x1/3 x = 64

In Exercises 6 and 7, use a graphing calculator to evaluate (f + g)(x), (f - g)

(x);
ONJ (fg)(x), and (mj(x) when x = 5. Round your answers to two decimal places. Q
(o . ©03@f = —3x13; g(x) = 4x? 7. f(x) = 6x¥% g(x) = 3x42 %\ (X
- one

) ) [D( 8. Describe and correct the error in stating the domain.

. 7.
546" X 106) = 457 andg(s) = 22 | S

\) 6( 2 : The ciomain of (ﬁ](x) is all real numbers. C&X\ O — 2 /(0
9. The table shows the outputs of the two functions fand g. Use the table to evaluate ot
(f + &)%), (f - £)(0), (f2)(3), and ({;)(2)- | ‘ &
x (o1 ]2 [3{4 |5 - \j——‘
f) |18 1318 [3|-=2]|-7 "‘D CO @Q

gbg |64 (3211684 |2
5%
6,,

3 —
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Name \ Q ;\;{}
inverse of a Function N ,‘\
— X
AT | Graphing Functions and Their inverses
Work with a partner. Each pair of functions are imverses of each other. Use a . \ﬁ_\_ﬁé’_
sraphing calculator to graph fand g in the same viewing window. What do you notice Ay
ahout the graphs? | Sy :
fixy = i&f + E fx) = Efm R

plx) =

glx) = 4

e X+ A JONES SLEN

~ Sy x("‘. u/
c(@gm(« S _ X

Sketching Graphs of Inverse Functions

‘Work with a partner. Use the graph of f to sketch the graph of g, the inverse function
of £, on the same set of coordinate axes. Explain your reasoning,

& Y : b.
: AP
Sy =x
- /1*:!‘ - -’
-8 A 4] Bx -8 -4
Eairr A - ;
’ y"‘"ﬁx}f ’
# F
?{ | 1 ¥
d. Y 4
| P
=l A
4 ke V=X
ol e 7 f A -
-8 |-4 |* 4 | Bx
*
*
i
AL
- -
-8 -
L K




« 'mula for the Input of a Function

Let f(x) = 2r + 3. NCAR +
a. Solvey = fix) for x. ¥ -3 %g
b. Find the input when the wtpm: is 7. =8

—— e

5
o
“;\n / :iw o } P | j i::} / [::‘ ’_‘r"’?\
A Gl

"* : ;;;Mwu&ﬁ: :i;nnwn» s
: g‘:", [
BB Finding ths Inverse of a Linear Function )

Find the overse of fx) = 3x — L.

lnwverse of a Quadratic Function

ac)

Find the inverse of f(x}) = 2% x = ( Thea graph the function and its inverse. b\)\/‘&% tS ﬁ‘@ff\
(QSTiL at’ (J!




Horizontal Line Tést

3 L » !
The inverse of a function fis alse a function if and only if ao hovizontal ims " @ “)6
S 2 \"S

intersects the graph of fmore than once.
N

Iaverse is a functien Inverse is nof a funclion , [
oo @ C\gﬁ\\)@? m‘m kd_s_

Consider the function f(x} = 2x° + 1. Determine whether the inverse of Fis a functio \
e

Then find the inverse. @QS I
¥is

Finding the Inverse of a Radical Fuﬁnﬁan

Consider the fanction f{x) = 2vx — 3. Determine whether the inverse of fisa
function. Then find the inverse.

! v

_— 2 2
\.w
\

s
&

[T 28
257




A-C (0 Tlpens N =

ni Functions Are Inverses "

Vﬂrif}‘ that f{x} 3x — land g{ 1=- %%:—im inverse functions. j <*- L \?4‘] /,,,, /(

P(gN= R (ag \a Hte )

T J‘j

;= Ty w AN

DEES S Sk A Y =

@L Q 3¢ i (a 3.; ar L g€ _5\);) 3 # /
al5): 2| e = X

)33\ 73 l B ERAS)
Sa?vmg Reaé?»i_lfé Pra ilams

In many read-life problems, formm 18 contain meaningful variables, such as the radius r

in the formula for the surface ares ¥ of. s;ahcm? 8= -twg In &has situation, switching
the variables to find the inverse w usion by switching ﬁiﬁ‘; me.amﬂgfs of §
and r. S{;x when finding tﬁi‘: invers | :

e

7 " Solving ¢ Multi-Step Problem }

\%\ Fimd the inverse of the function ! {represents the surface Yy
Then find the radius of a sphere t 1t hat & mrfm‘:ﬁ area of i»




1. f(x) =2x+3

In Exercises 4-6, find the inverse of the function. Then graph the function and its

inverse.

@f

5. f(x)=4x-1

. Find the inverse of the function f(x) =

solving for y. Then find the inverse of the function fby using inverse operations in the
reverse order. Which method do you prefer? Explain.

1

5

alx |2]-1]o)1 |2
fo) | 3| 30 9lj15]21
x |-3]3fof15]21
g |2 -1yof1 |2

its inverse.

G flx) =9 x20

‘i Ot "~ function. Explain your reasoning.

Copyright © Big Ideas Leamning, LLC
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b.

(-

@,

X 415
f(x) 3
N
b ¢ 3
g(x) 4

In Exercises 9-11, find the inverse of the function. Then graph the function and

10. f(x) = 16x*,x < 0 @f(x) |

In Exercises 12 and 13, use the graph to determine whether the inverse of fis a

(x+2)

etermine whether each pair of functions f'and g are inverses. Explain your reasoning.

/\( ('\, *’3\5
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Plox-1) = (9((\91"\)

Narre 5b¥’ ey \ L TN Date
2ox -2 |7 X (No)

.n Practice B |
In Extercises 1-3, solve y = f(x) for: Thenfind the input(s) when the output is -3.

1. f(x) = —%x +2 2. f ) =25x* 3. f(x) =(x-3" -4
In Excercises 4—6, find the i ‘_?verse oftt fu ncTon. Then graph the function and its l"'}) ‘g <%(-\03
inverse. ¥ = "“ N

e { £(52x) :
r’/}f ”§x+ % 5 )=+t
'_\% A — . < J i) 3
i ey >

4 7. Describe and correct the error in fi

>< flx) =3x -8

y =3x-8

x=3y-8§

g(x)=3x-8
In Exercises 8-10, find the mversef_w
inverse. A\ #
8. f(x)=-9%x<0. "St)J
p

11. Find the inverse of the function f

solving for y. Then find the invers
the reverse order. Which method «

In Exercises 12—15, determine whethe

@)f(x) = 6x + 1 g(x) = 6x—1}

5—-x
2

@DThe volume of a sphere is given t
T

a. Find the inverse function. Des

;8(x) =5-2x

b. Find the radius of a sphere wi

VA mfb(ﬁu

-

) g;;:
2N Eif By
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ling the inverse function.

) = Sx by switching the roles of x and y and

«f the

yeu prefer? Explain,

[ha fu

0.

Vo=

a ol

“

what it represents.

function /by using inverse operations in

nctions are inverses.

1) -

15. f(x) = 4x* +3; g(x) = — ;’

A3,

where r is the radius. S s T

pme of 146 cubic meters.

SRV
T
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In Exercises 1-6, solve the
Vix-2=5 @
4, \/; -8 =-2 ;J,,: i‘s"\{

7. Biologists have dlSCOV
Asian elephant can be :

(in years) of the elepha
height of 300 centimet

In Exercises 8-13, solve th

8. x-8=-/4x @

m=x+z<
‘@4/2_—97:% <

Y

In Exercises 14-16, solve {

2x2/3 18
X :2?’ )(’

17. Descnbe and correct t.

Y2x+1 =1

2x +1 =

2x =

x=-

In Exercises 18—20, solve "

18. 3Wx-4235
x> 9
21. The length ¢ (in inch
d is the diameter (in i1

a. What is the diame
b. What is the diame

c. The nail in part (k
twice as long? Ex

Copyright © Big Ideas Learning, L!
All rights reserved.

4ir.

A

[uiation. Check your solutlon N P
i { w5

2 Vex+1=9 %/ 3. fx+10 =43 0

\ e ’ N‘f
£ r""‘f\\
| ~3/16x + 14 = —l(r ,g 06x/25x - 16 = 14!3/"——
' \‘b‘.

:d that the shoulder height % (m centlmeters) of a male
adeled by h = 62.53/t + 75.8, where ¢ is the age
. Determine the age of an elephant with a shoulder

g ua#ion. Check your solution(s). -
9. V2x-14 =x-7 \ 7q

™
) ) 1. 38x+27—2x+3 5

s
i:» ,) \/3x— \/x+9 utri
2/

/
 equation. Check your solution(s).

.
7y M +10=0 +1zﬂ)(
,2

e

effor in solving the equation.

i inequality. F Ly
AN =3 <7 QS\/x—1>10 5 )(~Z-\

Xe S 5
Ycfa standard nail can be modeled by £ = 54a’ where i, ZL
hes) of the nail. \) X -7
I of a|standard nail that is 2 inches long? X -7 .é L}'
I ¢f ajstandard nail that is 4 inches long? 2' /

5 twice as long as the nail in part (a). Is the diameter
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Kuta Software - Infinite Algebra 2 R K "

Square Root Equations ’Y}@ﬁ

Solve each equatlon. Remember to check for extraneous solutions.
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Kuta Software - Infinite Algebra 2

Rational Exponent Equations Date

Solve each equation.
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8) 26 =—-1+(27x)*

27 ((Z/) /&if

z]g/ 272N
1227 %

Period,
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10) 5=3+4a Y b 2
i jfa - 2l

Ln

14) —5126 =—6— 5(3x +22)°
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